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What is Python ?
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What is Python ?

_“ v/ Bornin 1991

\! v' Completely free, complete and powerful language
| in many fields

v’ Syntax remains very simple and very readable

v Allows a modular and object-oriented approach
to programming

administration scripts or text file analysis, Web,
realization of graphical user interfaces, scientific
computing

Guido van Rossum



What is Python ?

Google  pytnon v Q #=

Tous Images Actualités Vidéos Shopping Plus Paramétres Cutils

Environ 468 000 000 résultats (0,46 secondes)

Welcome to Python.org
https:/fwww.python.org/ ~ Traduire cette page
The official home of the Python Programming Language.

Rechercher sur python.org Q

Download Python Python For Beginners

Python 3.7 2 - Windows - Python BeginnersGuide - e SR Plus d'images
3.7.0 - Python 3.5.0 - Python 2.7.15 BeginnersGuide/Download - IDEs - Tt 4, i1, b 9

Python Editors

Python <

Python 3.7.2 Windows . ; .
Python 3.7 2 is the second Mote that Python 3.5.5 cannot be angage de programmatian
maintenance release of Python ... used on Windows XP or earlier ...

Python est un langage de programmation interprété, multi-paradigme et
multiplateformes. Il favorise la programmation impérative structurée,
Python (Iangage) - Wikipédia fonctionnelle et orientée objet. Wikipédia
https:/fr.wikipedia.org/wiki/Python_{langage) v
Python est un langage de programmation interprété, multi-paradigme et multiplateformes. Il favorise la
programmation impérative structurée, fonctionnelle et ... Date de premiére version : le 20 février 1991, iy a 27 ans

Congu Par : Guide van Rossum

Typage: Fort, dynamique, duck typing Auteur: Guido van Rossum Dernigre version : 2.7.15 (1°" mai 2018); 3.7.2 (24 décembre 2018)
Extension de fichier: py, pyc, pyd, pyo et pyw Développeurs: Python Software Foundation

o L L




Software

rg' PyScripter - E\Bureau\Stage2018-2019\tripletsPythagoricien.py Y | =R I
Fichier Edition Rechercher Affichage Projet Exécuter Outils  Aide E M K~ n;.n- * Rechercher: - [;’
|| NouwveauFichier.. | | [* B B3 b ] ¥ ® .5 = = BB F
Explorateur de fichiers -
| Eptoteurcer ¥ o ldef rectangleOuNon(a): S
/8 Ordinateur . i 2 i-F a**2+(a+1)**2==(a+2)**2:
£ Disque local (C:) ] =1
43 Lecteur BD-RE (D)) ¥ 3 r‘etur‘n( oul )
3Tera (E: .
I : Disque amovible (F) 1 4 el se: =
. . . - return( 'non")
Script editor >
7def tripletPythagoricien(N): 1
. - a=1
- for loop in range(N):
Mesmges | [ if rectangleOuNon(a)=="oui':
Il Message (1] . Vo o r o
L pr‘lnt( ( JaJ 2 Ja+1J 2 Ja+2J ) )
- a=a+l
s i
4| [ | 3
0 Messages E Explorateur de C... tripletsPythagoricienpy % |modu|91 & E‘ ﬁ
Console Python B x
I
*** Console de processus distant Réinitialisée ***
>r>
>»>
Shell >
&5 Variables| B ories | 2. Console Python|
\ @

EduPython




TI-Python adapter

@PVINUN ADAPTATEUR APP n

13 TEXAS
INSTRUMENTS

I“PytHon 'i

5t o

V5.3.5.0000
@ 2018 TEXAS INSTRUMENTS



https://education.ti.com/fr/product-resources/python-for-ti-83-premium-ce

TI-Python adapter

NORMAL FLOTT AUTO REEL RAD MP n

APPLICHTIQONS
81TPeriodic
9:PlySmlt2
@:Prob Sim
'r ,T\ HP-Adartr

. :SciTools
Please wait... connected :Transfrm

education.ti.com roduct-resources/python-for-ti-83-premium-ce


https://education.ti.com/fr/product-resources/python-for-ti-83-premium-ce

TI-Python app

File manager

Q FILE MAHAGER

B
BUGS1
BUGS1CO
EUGS2
BUGS2CO
BUGS3
BUGS3CO
BUGS4
BUGS4CO
BUGSS
BUGSE

| Run | Edit | New [Shell [Manage]

Editor

w=D¥wu+3
return v

Fne...]2 A #]Tools| Run [Files]

Python session setup complete.

e

3% B Running FOMCTION

=25 from FONCTION import #
=>2 (5]

13

»xx f(-9)

=15

»2> |

[Fne...]2 A #]Tools [Editer][Files|




EDITOR: B n
PROGRAM LINE 6003
def f(x):
w=D¥wu+3

return vy

[
|[Fns...]a A #[Tools| Run [Files]

TI-Python app

Ctl Ops List Type I/0 Hodul
def function():
Zireturn

Esc

Func Ops List Type I,/0 Hodul
Hif ..
2:if .
F:if ..
4:for i
2ifor i
G:ifor i
Tifor i
E:while
9:elif :
D:else:

else ..

elif .. else

in range(size):

in range(start,stop):

in range(strt,stp,step):
im list:

condition:

Esc

Func Ctl (fF] List Type I/0 Modul
= [ste ¥]

2:u==y equal

Brulzy not equal

41wy

Dind=y

6y

Tiug=y

E:and

9or

Binct

Esc

Fune Ctl Qps Type I,/0 Hodul
L: ]
Z2ilist({sequence)
3:len()

drmax( )

2imin()
6:.append(«)
Ti.remove(x=)
B:.insert(inde=, =)
Qisum( )

Odsorted( )

Esc

Func Ctl Ops List I/0 Hodul
Hint()

Esc

Func Ctl Ops List Type Hodul
Hprint()
Ziinput()
3ieval()
Esc

Function menu




TI-Python app

Maths library

Enc Ctl Ops List Type I/0
math...

2:random. ..

Libraries
« Modul »

Esc

Random library

EDITEUR : ATREDEF
moth module

n EDITEUR : AIREDEF
moth module

1]

EDITEUR : AIREDEF n
moth module

Const Trig Math Trig Math Const

from math import ¥ 1:3 fflradians() degrérradians
2:fabs() 2:pi 2:degrees() radiansrdegré
8:sqrt() 3:sin()
4:exp() 4:cos()
Sipow(x,v) S:tan()
6:log(x,base) G:asin()
Fifmod(x,y) 7:acos()
8:ceil() 8:atan()
9:floor() 9:atan2(vy,x)
Odtrunc()
Hodul Modul Modul

EDITEUR :

random modwle

from random import ¥
trandom()
tuniform{min,max)
trandint(min,max)
:choice(séquence]
:randrange(début, fin, pas)
iseed()

~h N

Modul

« Modul » tab




TI-Python app

graphstats 1 déftable f2 format 13 calculs f4 table 5

0| o 2zom [1race ] oraphe

— B3 (mode) [suo) @ @

'..rerrA chger It
XTBn

tests A x7 B dessin C dstnb

(et i) (o) v L

angle D T E apps F [fodo: G

(o ][ vio | [risa] %]["] * %

e | EE J { K } M
[
[

2 nlaslanles
CB N ugz O Pwy, Q R
e M) I Cs ) e )

* S L4 T L5 U L6 V] w

‘w4 )(5])[6 =

*% 2

rappel X L1 Y L2 Z L3 8 mém ¢

)
= yees)f1 )02 JL8 J{E*T
)

off catalog — i rép ? préced

[on | O [ . H()llemwr
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TI-Python app

E/S Type Ctl Y Fonc List Modul
i<=y [sto »]
2iu==y égal
Sintzy différent de
4:uny

g:z:y graphstats 1 déftable 2 format 3 calculs 4 table f5
;::E:V [ f(x) ] [fen&tre] [zoom] [traoe] [graphe]
9:or quitter  insérer

dnot

Zohap] m [mode] lsuppr]
verr A echanger I|stes
‘alpha [xTen

I/0 Type Ctl Ops Fonc List [EFMH

iinath. .. [tests |A x1 B dessin C dlstnb
| ] ) [ | D
Ilbrary p| angle D E apps F [ndl:l G
[« | [ tig | [résol |[ & H"]
sqrt() | EE  J { K } Le)—m{ e
L2l JL O] JE%]
0° Nun Ow Pwn Q[ R
log(x,10) [ e [[ 7 |[ 8 |[ 9 |[ x |
exp() ) S 14 TL5 ULE V] w

o) L n )l 4 (5] 6| =]
fwos) (1 )(2)[3 [+
all off Catalodo i : rép 7 précéd

instructions [ond[ O |[ « |[ (=) ] entrer]




55> 347713
2

>>> 34713
8
el

=>> S¥3

125

»>> from math import ¥
»>> sqrt(13)

3.60555

b |

Fns...|a A #[Outils[éditer|Script

TI-Python app

@ FILE MANAGER |E|l

BUGSELQ
DICHOTO
DIXGRIN
DIXTIRAG
ERMITE
FONCTION
FOR
LISTE
LISTEBAS
MILIEU
PETITCHE

[ Run | Edit | New(]Shell [Wanage|

»»>» a,b=4,9
2> a

4
2232 b
g
a3 |

PYTHON SHELL []
Aalrha

=33 ¢="TI Python"

=>> len(c)

9

2o c[4]

Iyl

22> "abe"+"def"

'abedef!

>33 |

Fns...]a A #|0utils|éditer[Script|

Fns...la A #|0utils[éditer|[Script




Functions

E;ﬁ FONCTION '
ROGRAM LINE 0003
def f[=):
y=2¥u+3 v' Use « return » not « print »
return v
v" The two points starts instructions
v" Indent is automatic and necessary
R
Fns...]a A #]Tools| Run [Files| ?Eg?ggu;ﬁﬂLC
Fixe 2_
Prompt X
1 2% X+33Y

:Qutput (5,5, "Y=")
(Qutprut(5,7.Y)

e

»»> H Shell Reinitialized
2> B L'exécution de CALC
22> from CALC import ¥

53> f(8) v Intheshell <~ will copy lastline o

g distrib
s3> £(5) v - - -
13 In the shell, you can call a function with ﬂ
>3 |

Frs...la A #[0utils|eéditer|Script

A function is a way to avoid rehearsal




Functions

Exercise 1 EDIT MENU: Lalohad [¢53
F?GGRHH:QCTI q
. . . . . t " Lo
Rewrite this algorithm as concisely as :Inut "Ya "B
. . . tIpput "Xb ", C
possible using a function. :Input "Vb ",D
t(R+C)r 251
: (B+D).22]
tDisp I.J

EDITOR: HILIEU FY¥THOH SHELL
Rt Ll ouos ] RS

from math import * e milieu(Z,4,4,6)
def milieu(ma,va,xb,vb): (3.0, 2.0)
wil=(wa+xb) /2 272 |

yi=(ya+yb)/2
return =i,vyi

Fns...[]a A #[Tools| Run [Files| Fns...[a A #[Outils[éditer[Script|

A function is a way to avoid rehearsal




Functions

Find the smallest integer n such as ¢. <1 with c.= 3,4 et ¢..= 0,8

NORMAL FIXEZ AUTD REEL RAD MFP n
EDIT MENMU: [a1rhal [£5]

n&Q PROGRAM: SEUIL

:EffEcranil

C é 3:'1 :@=2N

) :3.49C

While cz21 tWhile C21

F1+NN
n<&n+l 5. BxCaC
C€0,8xC e NN

:Disp

n=0
c=cll
while er=seuil:
n=n+l
c=0. 8¥c
return n_

Fni...]i A #|Toels| Run |Files|

A function is a way to avoid rehearsal




Conditional statement

EDITOR: 5I []
PROGRAM LINE 0006
def min(a,b):
if a<b: v h , L h | .
return a « Then » doesn’t exist in Python. Indent replace it.
else: . .
return b v" Indent close the instruction,
NORMAL FIXEZ2 AUTO REEL RAD MP n
EDIT MENU: [a.Tphal [£5]
PROGRAM: S1
tEffécranil
Fns...Ta A #]Tools| Run [Files] Promet A.B
:Then
EDITOR: 5I EE%;: "MIN=",A
T00LS :Disp "MIN=",B
!Elndint 3 *End
Z2:Indent 4

3:Unde Clear
4:Insert Line Above
2:Cut Line

6:Copy Line

7:Paste Line Below

B:Go to Program Line...
9:Gc to Mew 5Shell
@:Return to Shell

Esec

v' Tools menu contains lots options like copy/paste or indent




Conditional statement

Exercise 2

A photo printing website offers prints at 0.11€
each. The price is reduced to 0.08€ each for
orders of more than 200 photos.

Create an algorithm which gives the total price
for a number n of prints.

EDITOR: 3ITE F¥THOH SHELL
R, Of@ = [

HORHAL FIX9 AUTO REAL RADIAR HP n def photo(n): »>> photo[165)
I?I§GGRFIHI=IFICT2 . M=0.11%n 22> photo(314)
!Input "Number ".N .
‘1f NC2ZOD else: 25.12
:Then Hzﬂ- ﬂaiﬁl'l ::'::'::' I
10, 11xN>M return M_
:Else
0. D8xN=M
:End
:Disp M
|
Fns...Ja A #[Teels| Run [Files] [Fns...[a A #[0utils[éditer[Script]




Closed loop

def f[n]
w=3 v' Range (a,b) dotheloopfora<n<b
for i in range(l,n+1):
= b+ v' Range(n+1) are integers from O to n
return =
v" Indent start instructions
NORMAL FIXEZ2 AUTO REEL RAD MP n
EDIT MENU: [alphal [£5]
PROGRAM: FOR
tEffécranil
Fns...[a A #[Tools| Run [Files| ;g:gmptlﬂ
:For(I,1,.N)
: X+49X
i
:End
Func Ops List Type I/0 Hodul :

IHif ..
2:if .. else ..
3:if .. elif .. el=e

d:for 1 in rangel(size):
2:fer 1 in range(start,stop): )
6:for i in range(strt,stp,step):| ¥ 4choices
Fifor i in list:
B:while conditien:
9:elif :
D:else:
Esc

Take care of the length of the interval



Closed loop

Exercise 3 o
The population of a village is 2300 today. Asthe T |
village is growing, its population increases each b1
year by 150 inahbitants.

Design an algorithm which gives the number of
inhabitants of this village in n years from today.

NORMAL FIXEZ AUTO REEL RAD MP def pnpu]..l‘l'.l.:-n[n] 3> population(Z28)
PROGRAM: ACT3 p=2300 6500

Effecrant for i in range(l,n+l1): 222 |

: n . n - 1EB

:Input "Porpulation ? ".N p=p+

: 2300P return p_

:For(I,1.N)

:P+150»P

:End

:Disp P

[Fni. c.]la A #|0utils| Exéc [Script| [Fr‘li-..-.li A #|0utils|éditer|Seript|

Take care of the length of the interval




[GHE DE SCRIPT 8661
def rebonds():_
H=120
R=0
while H>=1:

H=H%3/5
R=R+1
return (R)

DITEUR : REEDNDS []

Fns...|a A #|0utils| Exéc [Script

@
E:y [sto »]

2 u==y egal

Brulzy différent de
L - TH

2iMhoy

SHETAY

7 o=y

g:rand

9:or

Binot

|Echap|

Open loop

v" Indent starts instructions

v' «return » stop the program, take care to the indent

NORMAL FIXE2 AUTO REEL RAD MP f
EDIT MENU: [a.Tphal [£5]

PROGRAM: REBONDS

:Effécranil

:Input "INITIAL HEIGHT (CM
y ",H

:@3R

:Hhile H21

: 3/5%xH>H

:R+12R

:End

:Disp "R=".,R

tests A

v «tests » is accessible with the shortcut permet de

Take care to the indent




La boucle non bornée

Exercise 4

On the first January 2018 the price of a new car
was 20 000€. Each year the value of the car
diminishes by 20%.

Write an algorithm which calculates the number
of years which takes the value of the car to below
2000¢€.

¢=y EDITOR: YOITURE

FROGRAM LI
NORHAL FIX3 AUTO REAL RADIAN HP | |def prix(v): 23> prix(Z20000)
EDIT HEHU: [aTrhal [£5] nzu 11
PROGRAM: ACT4 - :
:InPut "Price ? ",V whifg ;:LEBEH' 2> |
(@3N U=, ¥
:While V22000 n=n+l
10. 83V return n
$1+N2N
:End
:Disr NI

Fns...[a A #[Tools| Run [Files| [Fns...[a A & [Outils|éditer[Script|




y EDITEUR : BUGSL

LIGHE DU SCRIFT aaaYy

def somme[=,y]
Zow+y
return z

§ faire 1'appel
nsole

# Faire 1'appel
console

# faire 1l'appel
sole

# faire 1l'appel

somme(3,4) &n co
somme| '3',4) en
some(3,4) en con

somme (3] en cons

Déebugger

p EDITEUR : EUGSZ

LIGHE DU SCRIFT 6067
def petitCheval():
dé=randint(1,6)
if dé=6;
message='cheval =saprti!
else:
message="'cheval non sort

i L

B faire l'appel petitCheval() en
console
# faire 1l'appel petitCheval en ¢

def sommeCarrés(MH):
5=0
entier=1
While entier
S+entier¥z
entier-entier+l
return $

=N+l

# faire l'appel sommeCarrés(3) =
n conscle
# gui deit donner 12+224+32:=14

Frns...[a A #J0utils] Exéc [Script]

Frs...[a A #J0utils] Exéc [Script

Frns...[a A #J0utils] Exéc [Script

LIGNE DU SCRIPT 0604

def :numt[:,}]:
Zou+y
return z

FEl

faire 1l'appel
nsole
# Faire 1'appel
console
# faire 1l'appel
sole
# faire 1l'appel

somme(3,4) &n co
somme| '3',4) en
some(3,4) en con

somme (3] en cons

 EDITEUR : EUGSZCO

LIGHE DU SCRIFT 6889
from random import¥
def petitCheval():
dé=randinti{1,6)
if dé==6:
message="cheval sorti'
else:
message="cheval non scrt
il
return message
# faire l'appel petitChewval() en

console

+ EDITEUR : BUGS3CO
LIGHE DU SCRIFT 6008
def sommeCarrés[M):

=0

entier=1

while [entier '=N+1):
S5=S5+entierkxz
entier-entier+l

return §

§ faire l'appel sommeCarrés(3) e
n conscle
# qui deit donner 12+224+32:=14

Frns...[a A #J0utils] Exéc [Script]

Frs...[a A #J0utils] Exéc [Script

Fns...[a A #J0utils] Exéc [Script]

Les erreurs les plus courantes




EDITEUR : EUGSY

LIGHE DU SCRIPT G60E
# calculs du H-ieme nombre trian
gulaire

def triangle(HN):
T=0
for i in range(l.n+l):
T=T+i

return(T)

# faire l'appel triangle(10) en
console,

Déebugger

LIGHE bU 5C
def t-:t[]
if 3%0,1-==0,3:
return( 'vrai')
else:
return('faux')

# faire l'appel test() en consol
]

LIGHE DU SCE
def f[=):
return xE¥Z-7x+D

def dicho(a,b,precision):
while (b-a)>precision!
c=(a+b) /2
if ¥ta]¥f[¢]€—3.

slsc.
a=<
return a,b

Fns...la A #|0utils| Exéec [Script]

Fne...la A #|0utils] Exéc [Seript]

Fne...la A #0utils] Exée [Seript]

EDITEUR : EUGSHCO

LIGHE DU SCRIPT G668
# calculs du H=ieme nombre trian
gulaire

def triangle(H):
T=0
for 1 in range(l,N+1):

T=T+i
return(T)

# faire l'appel triangle(1l@]) en
console.

EDITEUR : EUGSE

LIGHE DU SCRIFT 6806
def test():
if 3%0.1-=0.3:
return( ‘vrai')
else:
return('faux')

@0

»an test()
"faux'
>33 |

EDITEUR : EUGSECO

LIGHE DU SCRIPT 0663
def f(=):
return xEXZ-FEx+D

def dicho(a,b,precizion):
while (b-a)>precision!
c=(a+b) /2
if Fia]!f[¢]i—ﬂ.

elsc.
a=c
return a,b

Fne...la A #0utils] Exée [Seript]

Frs...[a A #J0utils] Exéc [Script

Fne...[a A #[0utils] Exéc [Seript]

Oubli des deux points, indentation, appel de bibliothéque, majuscule/minuscule, virgule...




Lists

quitter insérer

2]
Shortcut v A iehangor (100
-

[ 1] ]
Number of objects in a list § }::HEE““E"“] Display elements asked

&iman()
2imin()
6:.append(:) Add an object to a list
7 remove(:)

B:.insert(indice,=)
. . 9:sum( ) Sum all object of a list
Arrange in ascending order Pdsorted()

echap




>>> 1=[7,6,9,2]
>»5 1[0]
7

3> 1[2]
9

233 |

Numbering starts to 0

Lists

;;; i:g?i?’g’zl Length of a list

4

;;; i.sart[] Arrange in ascending
[Er b, 7, 9] order

AR

>>> 1l.append(S)

e T | Add |

[E. E| ?' gl 5] d value

23> |

3> l=range(>,20,2)

son list(l)

[, 7, 9, 11, 13, 15, 17, 19]
e -

=== sum[l]) Sumall objectin a list

96

=22 |

Write a list with the function
« range »

Fns...[a A #[Outils[éditer[Seript|

Fns...[a A #[Joutils[Editer[Script]

Fns...[a A #[Joutils[Editer[Script]

e

= 1=[1|2|4|1-1|4r5]
22

>>> l.eount(1)

s2x l.count(2)
1
3> |

Count the number of occurence

»an 1=[1,2,59,8,11]
=

=ea 2 oin 1

False

33 5 in 1

True

w3 |

Check if an object is in a list

Bam ow=[1,2]
aer y=[4,3,8]
e
22
[1,
e
2az
[a,
e
SAD Mty

[1, 2, 4, 5, 6]

w¥D
2,1, 2,1, 2, 1, 2, 1, 2]

[@]%5 Handy to reset
B, 0, 0, 0]

[Fni. ..la A #|0utils|éditer|Script|

Fns...[a A #[Joutils[Editer[Script]

Fns...[a A #[Joutils[Editer[Script]




Lists

Write a function that return the list of the n first integer squared

quitter insérer

verr A échanger @
e

Shortcut:

| EDITOR: LISTE | @ FY¥THOH SHELL n
HORHAL FIX9 AUTO REAL RADIAN HF n PROGRAM LIHE d0a5

EDIT MEMU: [alphal [£5] def carres(n): 53> carres(7)
PROGRAM: CARRES liste=[] [1, 4, 9, 16, 2%, 36, 49]
:ClrHome for 1 in range(l,n+1): 2o |

:ClrList L1 llste.gppend[lxxi'_l

!Input "Mumber of values " return liste_

« N

For(I.,1,N)

tI29L1 (1)

:End

:Disp L1t

Fns...[a A #[Tools| Run [Files||Fns...[a A #[0utils|éditer[Script|

Au programme en premiere générale
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Exercise 5 : the hare and the tortoise

One part of the hare and tortoise game goes like this : The
distance to run is 6 squares. The die is thrown and if a six comes
up the hare advances 6 squares, otherwise the tortoise goes
forward one square.

1) Programme a simulation of this game using Python.

2) Write a piece of script which returns the number of wins of the
hare and the tortoise.

le Ciene ef fa tortue

LMY Lo T f :Inrl im -:n-l: randint 23> course()
PROGRAM: ACTS rom ran i 4

:EffEécran - 3

Fixe B def :::EEE[]. 3

(02N 82D case=0 E

tlhile D<& et NCGE while de<t and case<b: 4
‘nbrAléatEnt(1,6)2D de=randint(1,6) 'la tortue a gagné'
'MN+1>N case=case+l 53 |

:Dise D print [de)

:End if case==6:

‘1f N=6 return "1s tortue a gagn| [Fns...[a A #[OutilslgditerScript]
:Then el

:Disp "The Turtle wins" else ! )

‘Else : return "le liévre a gagn

:Disp "The hare wins" €

:End

‘Fixe 90 Fns...la A #|0utils| Exéc [Script|
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Exercise 6 : Primeness test

Write an algorithm which tests for primeness and
returns a boolean. Use the instruction assert(n>=2)
(found in the instruction catalogue) to verify the
hypothesis made in the argument.

NORHAL FIX9 AUTO REAL RADIAN HP
EDIT MEHU: [alrhal [£5]
PROGRAM:PRIMALIT

:Inpput "Number .M
tFor(I.2.Ns2)

:If not{remainder(M.I))
:Then
tDisp
:Storll
:End
:End
:Disp

"False"

"True"

0

EDITEUR : PREMIER

LIGHE DU SCRIFT 6606
def premier(n):
assert no>=2
fer i in range(2,n):
if n#i==0:
return False
return True_

s3> premier(9)
False

>>> premier(19)
True

235 |

Fns...[a A #[Outils] Exéc [Script]

Fns...[a A #|Outils|éditer|Script|
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